() MFES

r>1

(a) By using 5 basis sets
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(source point)

r.=0.9

S

u(i):icj|n|>~<-§j|, then build [K]{a}={b} where {a}={C,C,,C,,C,,C,}'

j —2.30259
0.113077

[K]=| 0.591818
0.591818

k 0.113077

0.113077
-2.30259
0.113077
0.591818
0.591818

0.591818 0.591818
0.113077 0.591818
-2.30259 0.113077
0.113077 -2.30259
0.591818 0.113077

i —0.471746
0.381651

Weget {C,,C,,C,,C,,C,}' =|-0.145778

(b) By using 9 basis sets

-2.30259
-0.420684
0.201876
[ K ] —| 0.498474

0.626588
0.626588
0.498474
0.201876
k—0.420684

(&)}

(&)}

|
OOPFrRPOOPFrOOR

x~
|
(26}
P

-0.145778
k 0.381651 {

0.113077 i L
0.591818 -0.809017
0.591818 {b} = 0.309017
0.113077 0.309017
-2.30259{ k-0.809017 {

build [K]{al ={b}

-0.420684 0.201876 0.498474 0.626588 0.626588

-2.30259
-0.420684
0.201876
0.498474
0.626588
0.626588
0.498474
0.201876

-0.420684 0.201876
-2.30259 -0.420684

-0.420684 -2.30259
0.201876 -0.420684
0.498474 0.201876
0.626588 0.498474
0.626588 0.626588
0.498474 0.626588

0.498474 0.626588
0.201876 0.498474
-0.420684 0.201876
-2.30259 -0.420684
-0.420684 -2.30259
0.201876 -0.420684
0.498474 0.201876
0.626588 0.498474

Weget {C,C,,C,,C,,C,,C,.,C,,C,,Col' =

u(l @) = cos(36)

0.498474 0.201876
0.626588 0.498474
0.626588 0.626588
0.498474 0.626588
0.201876 0.498474
-0.420684 0.201876
-2.30259 -0.420684
-0.420684 -2.30259
0.201876 -0.420684

-0.583629
0.291815 |
0.291815
-0.583629
0.291815
0.291815
-0.583629
0.291815
k 0.291815 {

-0.420684
0.201876 |
0.498474
0.626588
0.626588
0.498474
0.201876
-0.420684
-2.30259 {
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r.=0.9

5.0
4.0
3.0
2.04
1.09
0.0+
-1.0
-2.0-
-3.0

4.0 %

'5.0 T T T T T T T T T
50 -40 -30 -20 -10 00 10 20 30 40 50

Exact solution (r=1)

.-5.0 -40 -30 -20 -10 00 10 20 30 40 50 .—5.0 -40 -30 -20 -10 00 10 20 30 40 50
MFS (5 sets) MFES (9 sets)
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( ) MFS r>2 (source point) r,=1.9

(a) By using 5 basis sets

u(i):icj|n|>~<-§j|, then build [K]{a}={b} where {a}={C,C,,C,,C,,C,}

j—2.30259 0.830205 1.31083 1.31083 0.830205 j 0.818147
0.830205 -2.30259 0.830205 1.31083 1.31083 0.59202
[K]=| 1.31083 0.830205 -2.30259 0.830205 1.31083 {b} = 0.731774
1.31083 1.31083 0.830205 -2.30259 0.830205 0.731774
k0.830205 1.31083 1.31083 0.830205 -2.30259 { k 0.59202 {
j 0.306085
T 0.385827
Weget {C,C,,C,,C, C;} =|0.336544
0.336544
k0.385827 {
X 4
Exact solution MFS (5 sets) Relative error (%)
u(-4, 0) 1.37067 2.44397 -783
u(-3, 0) 1.06158 1.96996 -856
u(3, 0) 1.13565 1.91835 -689
u(4, 0) 1.40192 2.43508 -736

(b) By using 9 basissets ~ build [K]{a}={b}

j —2.30259 0.290566 0.919502 1.21725 1.34568 1.34568 1.21725 0.919502 0.290566
0.290566 -2.30259 0.290566 0.919502 1.21725 1.34568 1.34568 1.21725 0.919502]
0.919502 0.290566 -2.30259 0.290566 0.919502 1.21725 1.34568 1.34568 1.21725
1.21725 0.919502 0.290566 -2.30259 0.290566 0.919502 1.21725 1.34568 1.34568
[K] =] 1.34568 1.21725 0.919502 0.290566 -2.30259 0.290566 0.919502 1.21725 1.34568
1.34568 1.34568 1.21725 0.919502 0.290566 -2.30259 0.290566 0.919502 1.21725
1.21725 1.34568 1.34568 1.21725 0.919502 0.290566 -2.30259 0.290566 0.919502
0.919502 1.21725 1.34568 1.34568 1.21725 0.919502 0.290566 -2.30259 0.290566
k0.200566 0.919502 1.21725 1.34568 1.34568 1.21725 0.919502 0.290566 -2.30259

0.818147 0.0806232
0.630647 0.15798
0.630647 . 0.15798
{b} = 0.818147 Weget {C,C,,C,,C,,C,,C,,C,,C,,C,} =  0.0806232
0.630647 0.15798
0.630647 0.15798
0.818147 0.0806232
0.630647 0.15798
k0.630647 { k 0.15798 {
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Exact solution MFS (9 sets) Relative error (%)
u(-4, 0) 1.37067 1.64166 -198
u(-3, 0) 1.06158 1.29213 -217
u(3, 0) 1.13565 1.32713 -169
u(4, 0) 1.40192 1.65792 -183
65
Exact solution MFES (65 sets) Relative error (%)
u(-4, 0) 1.37067 1.37185 -0.86
u(-3, 0) 1.06158 1.06261 -0.97
u(3, 0) 1.13565 1.13639 -0.65
u(4, 0) 1.40192 1.40298 -0.75
) (source point) r,=15 18
Exact solution MFS (18 sets) Relative error (%)
u(-4, 0 1.37067 1.37141 -0.54
u(-3, 0) 1.06158 1.06233 -0.72
u(3, 0) 1.13565 1.13589 -0.21
u(4, 0) 1.40192 1.40244 -0.37
) (source point) r,=1.0 10
Exact solution MFES (9 sets) Relative error (%)
u(-4, 0) 1.37067 1.37125 -0.42
u(-3, 0) 1.06158 1.06251 -0.88
u(3, 0) 1.13565 1.13502 0.56
u(4, 0) 1.40192 1.40173 0.14
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